WOBH 1T NFREF 9O
EEICHABEEL LTI E TR E . BECREICE>TEHENTE, BEOBRMLENT NNEE

F9. AHF. BNIICTLRVICBEVNTZEW!

2 ®_ F KA

1. BB f(x) = 2x% — x DRI f'(x) EEBITH > TRO Lo TRDB, f/(x) = hi%w k5
B )L(x ) — JC i ‘
§ k-*o 7 lfr'o (4x+ 24~ 1)
= i 2060 (eh)—f2xE=x ] | 24—
=0 4
= o 4‘7(‘-6\_}2'6\2"6\
“H—0 h
2. ROBKEHH B Lo
(1) f(x)=3x*+3x—1 (2) F(x) =6x° —x® +4x—1
$o0= 3:2x 43\ = £xx3 fly= 6-SxF-2%+4-|
- 30x*—2x+ 4

(xFY'= rx™ (rAs34K)

(cY= 0 (C:E%) G
(g )= Jagea+ T4

(3) f(x) = —5x* +4x> + 5x% + 2x + 2% (4) f(x)=(x—2)(47 +x+4) J
)= =543+ 4-3x % §- 2% +2- | 0 = (=2) [@x 2 x4
! . 4
= =20+ [2x*+ (Ox+ 2 4 (=2 Yok X +4 )

= (4-5(2-\- 'X—l-‘ﬂ-\'(x’?—\(?)('f 1)

= 2% =14 x+ 2
i’ / 4 ./ /
(141 Sy Sy S -
' RATA .
(5) f(x) =x(x+3)(7x*+4) / (6) f(x)= LI /
':f/(XF (x4 3) (T34 + X (x> &) j/ _ (X+3)/*X"('x+3)‘ x/
YA )= ry
+ X (x+3) Fax X
. /
K7x3+4x+21x-+28) - X-:L§EQ ;&QJ
+(7x? +4x\+(\4—>« +42%%) } 9(x)
= 2P 63x Pxr 2l = - -% . j’(xﬁ(x)--'fxx)f}@)

(x\*
SPEE|ICERENGUET |



7] ¥iw) = 2x21—1
/' —
'j.(x\ (sz \)

- (ax= Y y
<3 b _.L-,
SREWT 4y (304)\

(le——\)l /

__ 4w
C}(ﬂ)"
Xz— !
® 1=
$hy= & 22)" (x-2)~ (’( ). (xe2)
o 2% (X=2)—(x22)
(x-2.Y
L XAx+2
(x-2)*
A7—%) L +xy—
THxp— X =094 (6) b —XC
Z_: =(%),4 (9) TL+X8+ X€9+ x87 = (¥),4 (9)

THX0L+ XTL+ X07— = (%),4 (g)

¥+ X7 — ,X0¢ = (

1
X2 —4x+1

(=4l
(k4% 1)
_ 2x—4

(x*~4x+1)*

:
2x—1)(x+1)

LX -1 (x+l)3

2x =) (%< 1)*

(10) f(x) =

'ﬁx)“

2%+ D)+ (2x)- |
(=1 (%= 1)

_ Ax+ |
(2x=1)* (x+\)*

1 +X)1—x7)
o — = (x),4(01)
(1L—zx7)
— =94 (8) S =M )

THxpl— X7l = (0,4 (%)

%)+ (2) g+x9=(04 (1) ©
| — Xy = (x),4 T




